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क¢ा- 10  ͪवषय- वाͨणÏय- 
बहȣ खाता तथा लेखा शाèğ के त×व 

समय- 2 घंटा  पूणाɍक- 40 

 
सामाÛय Ǔनदȶश : -  

 
 कुल 40 Ĥæन हɇ।  
 सभी Ĥæनɉ के उƣर अǓनवाय[ हɇ। 
 Ĥ×येक Ĥæन के ͧलए एक अकं Ǔनधा[ǐरत है। 
 Ĥ×येक Ĥæन के चार ͪवकãप Ǒदए गए हɇ। सहȣ ͪवकãप का चयन कȧिजये। 
 गलत उƣर के ͧलए कोई अंक नहȣं काटे जाएंगे। 

 
Q1.चालू संपͪƣयɉ के उदाहरण है -Examples of current assets is /are:    (a) रोकड़ (Cash)    (b) अǓंतम 
रहǓतया (Closing Stock)   (c) देनदार (Debtor)   (d) इनमɅ सभी (All of these) 

Q2.ĤाÜत बटटे का लखेा ͩकस खाते मɅ होता है?(Discount received is included in which account ? 

 (a) लाभ हाǓन खाता (P/L Account)     (b) आͬथ[क-ͬचɪठा (Balance Sheet) 

 (c) åयापार खाता (Trading Account)    (d) आय - åयय खाता (Income Expenditure A/c) 

Q3.åयापार खाता ͩकस Ĥकार का खाता है ? (Which type of Account is Trading Account ?) 

 (a) åयिÈतगत खाता (Personal Account)   (b) वाèतͪवक खाता (Real Account) 

 (c) नाममाğ का खाता (Nomianl Account)   (d) उचÛत खाता (Suspense Account) 

Q4. यǑद ͪवĐय 5500 Ǿ० तथा सकल लाभ 1200 Ǿ० हो तो बेचे गये माल कȧ लागत Èया होगी ? (If sales is 
Rs 5500 and Gross Profit is Rs 1200 what is the cost of goods sold ? (a) 4500 Ǿ०  (b) 6700 
Ǿ०  (c) 4300 Ǿ०  (d) 5500 Ǿ० 

Q5.Ǔनàन मɅ कौन सी अमूत[ सàपͪƣ है ? (Which of the following is Intangible Assest ?) 

  (a) भूͧ म (Land)(b) ÉयाǓत (Goodwill)(c) भवन (Building)(d) फनȸचर (Furniture) 

Q6. Ǔनàन मɅ स ेकौन सा ͪवƣीय åयय नहȣं है ? (Which one is not a Financial Expense?)  

  (a) ऋण पर Þयाज (Interest on Loan )     (b) पूँजी पर Þयाज (Interest on capital) 

  (c) दान (Charity)                        (d) दƣ छूट (Discount Allowed) 

Q7.एक Ǔतͬथ ͪवशेष पर सभी संपͪƣ और दाǓय×व का सारांश है- Is the summary of all assts and liabilities 

(a) तलपट Trial Balance           (b) लाभ हाǓन खाते  Profit & Loss a/c   

(c) ͬचɪठा  Balance sheet          (d) इनमɅ सभी All of these 
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Q7. एक अचल संपͪƣ नहȣं है-  ..is not a fixed asset (a)रोकड़Cash (b_उपèकर फनȸचर(c) भूͧ म land (d) 
सभी All 

Q8. इनमɅ स ेकौन सा åयापाǐरक खाता बनाने का लाभ नहȣं है Which of the following is not an advantage 
of making trading account: 

(a) माल कȧ लागत कȧ जानकारȣ knowledge of cost of goods  

(b)तुलना×मक अÚययन comparative study 

(c) खच[ पर Ǔनयğंण control over expenses 

(d)बाजार के महंगाई पर Ǔनयंğण control over the market 

Q9.Ǔनàन मɅ कौन सी मूत[ सàपͪƣ है ? (Which of the following is tangible Assest ?) 

(a) भूͧ म और भवन Land & Building               (b) फनȸचर और ͩफÈसचर Furniture and fixtures 

(c) संयंğ और मशीनरȣ Plant & Machinery       (d) इनमɅ सभी All of these 

Q10. बɇक अͬधͪवकष[ åयापार के ͧलए ______ है  Bank overdraft is a ___ for the business. 

 (a)  खचȶ expense (b)आय  income (c) संपͪƣ assets (d)दाǓय×व liability   

Q11. इनमɅ से कौनसी ĤǓत£ापğ कȧ ͪवशेषता नहȣं है Among the following, which is not a feature of a  
Promissory note?  

 (a) इसमɅ केवल दो प¢कार होते है(Only two parties)   (b)इसे लेनदार ͧलखता है(written by creditor) 

 (c)इसमɅ èवीकृǓत कȧ जǾरत नहȣं होती(Acceptance not required)  (d)इसमɅ लेखक ĤाÜतकता[ नहȣं बन 
सकता(writer cannot be the payee) 

.Q12.ͪवपğ को भुनाने कȧ िèथǓत मɅ ͩकतने प¢ रहत ेहɇ?How many parties are involved in case of 
discounting of bill? 

(a) दो Two  (b)तीन Three    (c)एक one      (d)असीͧमत Unlimited 

Q13.वेतन को उपèकर के नाम प¢ मɅ  खतौनी करना यह एक_____| Posting Salary in debit of Furniture 
A/c is a _____. 

(a) योग कȧ अशुɮͬध Errors of Casting (b)खतौनी कȧ अशुɮͬध Errors of Posting (c) आगे ल ेजाने कȧ 
अशɮुͬध Errors of  carrying Forward  (d) इनमɅ स ेकोई नहȣं : none of these 

Q14.सुधार कȧ Ǻिçट से अशुɮͬधयाँ हो सकती हɇ। 

(a)एकप¢ीय  (b) ɮͪवप¢ीय   (c) एकप¢ीय या ɮͪवप¢ीय  (d) इनमɅ से कोई नहȣं (none of these) 
Q15. अनुĒह के Ǒदन ͩकसम ेͧमलते है? Which of these get days of grace? 

(a) ĤǓत£ापğ     (b) हंुडी       (c) चेक     (d)  इनमɅ स ेकोई नहȣं : none of these 

 



Q16.  जब लखेक- X  ͪवǓनमयपğ को बɇक स ेभुनाया जाता है (When the bill of exchange is discounted  
from the bank by drawer X. Journal Entries in the books of  A's (लखेक के खाते मɅ Ĥͪविçट  करɅ) 
(a)  B/R …A/c   Dr     (b)Cash ….A/c  Dr          (c) Cash….    A/c        Dr            
       To Cash            To  B/R                   Discount   A/c …..    Dr 
                                                           To  B/R 
(d)इनमɅ से कोई नहȣं none of these 
 
Q17. अनादरण कȧ िèथǓत मɅ भुगतान कȧ िजàमेवारȣ ______कȧ होती हैIn condition of dishonour liability of 
payment is of____. 
(a)बɇक(Bank)         ( b)èवीकता[( Acceptor)          (c)लखेक(Writer)         d)इनमɅ से कोई नहȣं 
none of these 
 
Q18. यǑद ͪवपğ का ͩकसी तीसरे प¢कार को बचेान कर Ǒदया गया हो और ͪवपğ अĤǓतिçठत हो जाता है तो ऐसी 
हालत मɅ Ĥमाणन åयय _______ɮवारा भुगतान ͩकए जाते हɇ।  

(a)बेचानपाğ (Endorcee)  (b) बेचानकता[ (Endorcer)   (c) èवीकता[   (d)      (d) इनमɅ से कोई नहȣ ं(none 
of these) 
 
Q19, , जब A ने B स ेĤाÜय ͪवपğ पर èवीकृǓत ĤाÜत कȧ (When A received acceptance of the bill from 
B.) Journal Entries in the books of  B's A/c (èवीकता[ के खाते मɅ Ĥͪविçट )     
(a)B's A/c ….. Dr.             (b)  A's A/c……. Dr.      (c)  Cash A/c…. Dr.               
     To  B/P                        To   B/P                To    B/P   
 (d)इनमɅ से कोई नहȣं (none of these) 
Q20. तलपट के न ͧमलने पर राͧश को अèथायी Ǿप से रखा जाता है (In case of non agreement of Trial 
Balance the amount is temporarily put to) 
(a)लेनदार खाते मɅ (Creditors Account) (b)भूल-चकू खाते मɅ (Suspense Account) 
(c)रहǓतया खाते मɅ (Stock Account)    (d)लाभ हाǓन खाता (P/L Account) 
 

Q21.अदƣ åयय को.. (Outstanding Expenses are ...): 
(a) लाभ-हाǓन खाता मɅ नाम ͩकया जाता है और िèथǓत ͪववरण के सàपͪƣ भाग मɅ Ǒदखाया जाता है। (... debited to 
Profit & Loss A/c and are shown in the Asset Side of Balance-Sheet.) 
(b) लाभ-हाǓन खाता मɅ नाम ͩकया जाता है और िèथǓत ͪववरण के दाǓय×व मɅ Ǒदखाया जाता है। (....debited to Profit 
& Loss A/c and is shown in the liabilities side of Balance-Sheet.)  
(c) लाभ-हाǓन खाते मɅ जमा ͩकया जाता है और िèथǓत ͪववरण के दाǓय×व भाग मɅ Ǒदखाया जाता है। (....credited to 
Profit & Loss A/c and is shown in the liabilities side of Balance-Sheet) 
(d) इनमɅ से कोई नहȣं। (None of these.) 

 
Q22.उपािज[त आय (Accrued Income) :  

(a) को åयापार खाता मɅ जमा ͩकया जाता है और िèथǓत ͪववरण के सàपͪƣ भाग मɅ Ǒदखाया जाता है। (is credited to 
Trading Account and shown in the Asset side of Balance-Sheet) 
(b) को लाभ-हाǓन खाता मɅ नाम ͩकया जाता है और िèथǓत ͪववरण के सàपͪƣ भाग मɅ Ǒदखाया जाता है। (is debited 
to Profit & Loss A/c and is shown in the Asset side of Balance Sheet)  



(c) को लाभ-हाǓन खाते मɅ जमा ͩकया जाता है और िèथǓत-ͪववरण के दाǓय×व भाग मɅ Ǒदखाया जाता है। (is credited 
to Profit & Loss A/c and is shown in the liabilities side of Balance-Sheet.) 
(d) इनमɅ से कोई नहȣं। (None of these.) 
 
Q23. समायोजन मɅ दȣ गई अंǓतम रहǓतया (Closing Stock given in adjustment) - 

(a) लाभ-हाǓन खाता मɅ जमा ͩकया जाता है और िèथǓत ͪववरण के दाǓय×व भाग मɅ Ǒदखाया जाता है। (is Credited to 
Profit & Loss A/c and is shown in the liabilities side of Balance-Sheet.) 
(b) åयापार खाता मɅ जमा ͩकया जाता है और िèथǓत ͪववरण के सàपͪƣ भाग मɅ Ǒदखाया जाता है। (is Credited to 
Trading A/c and is shown in the asset side of Balance Sheet) 
(c) लाभ-हाǓन खाता मɅ जमा तथा िèथǓत ͪववरण के सàपͪƣ भाग मɅ Ǒदखाया जाता है। (is Credited to Profit & Loss 
A/c and is shown in the asset side of Balance-Sheet.) 
(d) इनमɅ से कोई नहȣं। (None of these.) 
 
Q24.बɇक समाधान ͪववरण बनाया जाता है (Bank Reconciliation Statement is prepared by) 

 (a) बɇक ɮवारा (Bank)                    (b) लेनदार ɮवारा (Creditors) 

(c)अंके¢क ɮवारा (Auditor) 

(d) बɇक के Ēाहक ɮवारा (Customer of Bank)  
 
Q25.  बɇक समाधान ͪववरण बनाने के ͧलए शेष ͧलया जाता है .(Which balance is taken to pepare Bank Reconciliation 
Statement) 
 (a) रोकड़ बहȣ या पासबुक का शेष (Cash Book or Passbook Balance) 

(b) पासबुक का शेष (Passbook Balance)  

(c) न तो रोकड़ बहȣ का शषे और न हȣ पासबुक का शेष (Neither Cash Book Balance 

Passbook balance) (d) रोकड़ बहȣ का शेष (Cash Book Balance) 
 
Q26. पासबुक नकल है (Passbook is a Copy of) 

(a) रोकड़-बहȣ मɅ बɇक सàबÛधी åयवहारɉ का (banking tansactions in Cash Book) 

(b) åयवसाय कȧ समèत ĤािÜतयɉ एवं भुगतानɉ का (all the receipts and payments of busin 

(c) सभी नगद åयवहारɉ का (all the Cash transactions) 

 (d) बɇक ɮवारा बनाए गये खातɉ का (accounts prepared by Bank) 

 

Q27.इनमे से कौन रोकड़ बहȣ कȧ ͪवशेषता है  Which of these is the a feature of Cash Book 

(a)इसमɅ नकद और उधार दȣ=दोनɉ लेनदेनɉ का Ǒहसाब ͩकताब रखा जाता है Recording of cash and credit 
transactions 

(b)Ǔतͬथवार लेनदेनɉ को ͧलखने कȧ आवæयकता नहȣ होती No need to enter transactions date wise. 

(c)यह सहायक बहȣ व Ĥधान बहȣ का काय[ भी करती है Cash Book acts as a Subsidiary Book and a Principal Book 

(d)None of these. 
 

Q28. ǒğèतàभीय रोकड़ बहȣ का रोकड़ èतàभ का हमेशा होता ह (Cash Column of the three columns Cash Book 
always has)  
(a) जमा आͬधÈय(Credit Excess )     (b) दोनɉ मɅ से कोई एक (Any of the two)  

(c) नाम आͬधÈय (Debit excess)         (d)इनमे से कोई नहȣ (None of these) 
 



Q29.देय ͪवपğ èवीकता[ के ͧलए (Bills Payable is a/an ______for the Acceptor) 

(a)हानी है(Loss)     (b) आय है(Income)     (c) सपंͪƣ(Asset)      (d) इनमे से कोई नहȣ  

 

Q30.ıास ͧसफ[  _____ पर लगाया जाता है Depreciation is calculated only on  _______. 
(a) संपͪƣयɉ (Current Assets)    (b)तरल संपͪƣयɉ (Liquid Assets)   (c)èथायी संपͪƣयɉ (Fixed assets )  (d)इनम ेसे कोई 
नहȣ (None of these) 
 

Q31.इनमे से कौन सीधी रेखा पɮधǓत का गुण नहȣ है (Which of these is not a merit of Straight Line  Method) 

(a)संपͪƣ का मãूय कभी शÛूय नहȣ होता (The value of the asset never becomes Zero) 

(b)ĤǓतवष[  ıास कȧ राͧश Ǔनकलने कȧ आवæयकता नहȣ होती.(No need of calculating depreciation every year 

(c)इस पɮधǓतसे ıास कȧ राͧश Ǔनकलना बहुत हȣ आसान है(Calculation of depreciation by this method is very 

simple.)          (d)इनम ेसे कोई नहȣ (None of these) 

Q32.1जनवरȣ, 2020 को एक संयंğ 72,000 ǽ. मɅ Đय ͩकया गया तथा इसे लगाने पर 3,000 ǽ. åयय हुए। संयंğ का 
अनुमाǓनत जीवन काल 10 वष[ है, िजसके पæचात ्अवͧशçट मãूय 15,000 ǽ. होगा। सीधी रेखा पɮधǓत के अनुसार 

वाͪष[क ıास ____होगा .(A plant was purchased for Rs. 72000 on 1st January 2020 and spent Rs. 3,000 on its 
erection. Estimated effective life of the plant is 10 years with break up value of Rs. 15000, depreciation by Straight 
Line Method will be _____.) 

(a)7500              (b)7200         (c)6000     (d)इनमे से कोई नहȣ (None of these) 
 

Q33.Đमागत ıास पɮधǓत के अनुसार ͩकसी èथायी सपंͪƣ के  ıास का मूãय उसके  ____वष[ मɅ सबस ेÏयादा होगा 
.(In Diminishing Balance Method depreciation value of an asset will maximum in the ___ 

(a)अǓंतम वष[(Last year )      (b) बीच के वष[ (Middle year)      (c) Ĥथम वष[(First year)   (d)इनमे स ेकोई 
नहȣ (None of these) 
Q34.आहरण पर Þयाज के समायोजन मɅ यह (Interest on Drawing adjustment) 

(a) पंूजी मɅ जोड़ा जाता है (is added to Capital.) 

 (b) पूंजी मɅ से घटाया जाता है (is deducted from Capital.) 

(c) पूंजी मɅ जोड़ा जाता है और लाभ-हाǓन खाता मɅ नाम ͩकया जाता है। (is added to capital and debited to. Profit & 

Loss A/c.)      (d) इनमɅ से कोई नहȣं (None of these.) 

Q35. तलपट मɅ अंǓतम रहǓतया.... (Closing Stock  in Trial Balance... ) 
(a) को åयापार खाता मɅ जमा ͩकया जाता है। (is Credited to Trading Account.) 

 (b) åयापार खाता मɅ जमा तथा िèथǓत ͪववरण के सàपͪƣ भाग मɅ Ǒदखाया जाता है। (is credited to Trading Account 
and shown in the asset side of Balance-Sheet.) 

 (c) केवल िèथǓत ͪववरण के सàपͪƣ भाग मɅ Ǒदखाया जाता है। (is shown only in the assets side of Balance-Sheet.)                             
(d) इनमɅ से कोई नहȣं (None of these.) 

Q36.åयापार खाते के Đेͫडट प¢ का योग डेǒबट प¢ के योग से अͬधक हो तो Èया कहलाता है : (Total  of  
credit side excess over debit side In Trading a/c is-) 
(a)  शुɮध लाभ  Net Profit (b) सकल लाभ Gross Profit  (c)शɮुध हाǓन Net Loss  (d) सकल हाǓन  Gross 
Loss 



Q37. इनमɅ स ेकौन सा लाभ -हाǓन खाता बनाने का लाभ नहȣं है Which of the following is not an 
advantage of making Profit & loss a/c?  

(a) सकल लाभ या हाǓन कȧ जानकारȣ(Knowledge of gross profit/loss)   (b)करɉ के Ǔनधा[रण मɅ सुͪ वधा( Tax 
calculation)         (c)åयवसाय कȧ ĤगǓत का अनुमान(Progress of business)         (d)  इनमɅ स ेकोई 
नहȣं (none of these) 

Q38. कारखाना के ͪवèतार मɅ लगायी गयी 10,000 ǽ. कȧ रकम मरàमत खात ेमɅ डाल दȣ गयी (Rs. 10,000 
spent on extention of factory charged to Repairs Account); 
(a)Suspense  a/c Dr.  10000    (b)Repairs  A/c Dr 10000     (c)Factory  A/c  Dr 10000 
      To  Repairs       10000       To  Factory     10000        To Repairs       10000       
(d) इनमɅ से कोई नहȣं (none of these) 

Q39.परàपराओं के अनुसार ğुǑटयɉ का संशोधन _______ ɮवारा ͩकया जाता है(As per Traditional methods 
Errors are rectified by_____.) 
(a)Ĥͪविçटयɉ को काट कर (cutting the entries)     (b)Ĥͪविçटयɉ को ͧमटा कर( Erasing the entries )         
(c) उपयुÈत सुधार कȧ Ĥͪविçटयɉ(By suitable entries of rectification)   (d) इन सभी (By All) 
Q40.Ĥारंͧभक रहǓतया 15000 Ǿ0 ͪवĐय 25000 भाडा -1500 सकल लाभ 9000 Đय - 13650 तो अǓंतम èटॉक 
कȧ गणना करɅ। ? (Opening Stock Rs 15000, Sales - Rs 25000. Frieght - Rs 1500, Gross Profit-
9000, Purchase 13650, then calculate closing stock.) 
 (a) Ǿ० 9630   (b) 14500 Ǿ०   (c) 15000 Ǿ०  (d) 14150 
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         झारखÖड शैͯ¢क अनुसंधान एवं Ĥͧश¢ण पǐरषɮ राँची ,झारखÖड  

Ĥथम सावͬधक परȣ¢ा 2022-23 

मॉडल Ĥæन पğ (ͪवषयǓनçठ)                                                          सेट 1 
 

क¢ा – 10  ͪवषय – ͪवषय- वाͨणÏय- 
बहȣ खाता तथा लेखा शाèğ के त×व 

समय- 2 घंटा  पूणाɍक- 40  

 
सामाÛय Ǔनदȶश : -  

 परȣ¢ाथȸ यथासभंव अपने शÞदɉ मɅ उƣर दɅ.  

 कुल Ĥæनɉ कȧ सÉंया 19 है. 
 Ĥæन संÉया 1 से 7 तक अǓत लघु उƣरȣय Ĥæन है. ͩकÛहȣ 5 Ĥæनɉ  का उƣर देना अǓनवाय[  है. 

Ĥ×येक Ĥæन का मान दो  अकं Ǔनधा[ǐरत है.  

 Ĥæन संÉया 8  स े14  तक  लघु उƣरȣय Ĥæन है.  ͩकÛहȣ 5 Ĥæनɉ  का उƣर देना अǓनवाय[ है. 
Ĥ×येक Ĥæन का मान तीन  अंक Ǔनधा[ǐरत है.  

 Ĥæन संÉया 15 से 19 लघु उƣरȣय Ĥæन है. ͩकÛहȣं तीन Ĥæनɉ का उƣर देना अǓनवाय[ है. Ĥ×येक 
Ĥæन का मान पांच  अंक Ǔनधा[ǐरत है.  
 

                                        SECTION A                  
 

 
Q1.ͪवǓनमयपğ के दो  लाभ बताए| (Give two benefits of Bill of exchange)                    
Q2.िèथǓत ͪववरणी कȧ दो ͪवशेषताओं को बताएं.(State two features of Balance sheet.) 
Q3.ıास लगाने के दो Ĥमुख पɮधǓतयɉ के नाम ͧलखɅ.(State two methods of providing Depreciation.) 

Q4.सुधार कȧ Ĥͪविçट बताए.( Give rectification entries) (i) ǐरमͨझम स ेĤाÜत 500 ǽ. को राͬधका के खाते मɅ जमा 
कर Ǒदया गया है (Rs. 500 received from Rimjhim has been credited to Radhika Account); 

Q5.रोकड़ बहȣ कȧ दो  ͪवशेषताओं को ͧलखɅ.(State two features of Cash Book.) 
Q6 .ͪवपğ का अनादरण ͩकसे कहते हɇ ?(What is meant by Dishonoring of Bill of Exchange?) 

Q7.åयापाǐरक खाता बनाने के दो लाभ बताएं.(Give two Advantages of preparing Trading Account.) 
 
 
                              SECTION B 
Q8. उचÛती खाता या भूल-चूक खाता कब बनाया जाता  है.(When Do we make suspense account?) 

Q9. तलपट एवं आͬथ[क ͬचɪठा मɅ अÛतर बताइए। (Differentiate between Trial Balance & Balance 
Sheet.) 

Q10.ͪवǓनमय पğ का नमूना बनाये.(Give the Specimen of Bill of exchange.) 

1.30 Hrs



Q11. ͪवǓनमयपğ के कौन से तीन प¢कार होते हɇ ,संछेप मɅ बताएं  (How many parties are there in 
a Bill of Exchange, explain briefly.)  

Q12.सुधार कȧ Ĥͪविçट बताए Give rectification entries: (A) इतवारȣ से 850 ǽ. ĤाÜत हुए लेͩकन मोǓनका  के खाते 
मɅ जमा कर Ǒदया गया ( A sum of Rs. 850 was received from  Etwari but ’s Account has been Credited to 

Monica’s A/c);      (B)1650 ǽ. का माल जो भोला स ेĐय ͩकया गया है, उसे  लाल के खाते मɅ जमा कर Ǒदया गया है 
(Goods worth Rs. 1650 has been purchased from Bhola on credit but  Lal's Account has been Credited); 
 
Q13.मãूयıास के तीन कारण समझाएं.(Explain briefly three causes of Depreciation.) 
 
Q14.रोकड़ बहȣ तथा पास बुक के शेषो मɅ अंतर के तीन कारण बताएं.(State three causes of difference 

between the balances of Cash Book and Pass Book) 
                                

                     SECTION C 
Q15. 1 अĤैल, 2007 को कàपनी ने 80,000 ǽ. मɅ एक मशीनरȣ Đय कȧ और 10% वाͪष[क कȧ दर से 
Đमागत हास पɮधǓत से हास काटने का Ǔनण[य ͧलया। 1 जलुाई, 2008 को मशीनरȣ का एक Ǒहèसा िजसका 
पèुतकȧय मãूय 1 अĤैल, 2007 को 16,000/- ǽपये था 10,000 ǽपये मɅ बेचा। कàपनी कȧ पèुतकɉ मɅ 2007 
एवं 2008 के वषɟ के ͧलए मशीनरȣ खाता बनाइए। A Company purchased a Machinery for Rs. 80,000 on 1st 
April, 2007 and decided to write-off depreciation at 10% annually on diminishing balance method. On 1st 
July, 2008 a part of the Machinery valued in the books of the firm at Rs. 16,000 on 1st April, 2007 was sold 
for Rs. 10,000 Show Machinery Account in the books of the company for the years 2007 and 2008. 

 

Q16.1अÈटूबर, 2020 को रȣना  ने ǐरतु को 8,000 ǽ. का माल बेचा। उसी Ǔतͬथ को ǐरतु ने रȣना  के ɮवारा ͧलखे 
8,000 ǽ. के दो माह के ͪवपğ पर अपनी èवीकृǓत दे दȣ। रȣना  ने देय Ǔतͬथ तक ͪवपğ को अपने पास रखा और देय 

Ǔतͬथ पर उसको बɇक मɅ वसलूȣ के ͧलए भेज Ǒदया। इस दौरान रȣना को बɇक से सूचना ͧमल गई ͩक ͪवपğ का भुगतान देय 

Ǔतͬथ पर ĤाÜत हो गयी  है , रȣना  तथा ǐरतु कȧ पèुतकɉ मɅ रोजनामचा Ĥͪविçटया ँकȧिजए (On 1st October, 2020, 
Reena sold goods to Ritu for Rs. 8,000. On that date Ritu accepted a bill drawn upon her by Reena at 2 
months for Rs. 8,000. Reena retains the bill till due date and on the due date and sends the same to the 
banker for collection. In due course, Reena receives the information from the Bank that the bill has been 
duly met. Pass Journal Entries in the Books of Reena and Ritu ) 

Q17. ͪवǓनमय पğ व ĤǓत£ा पğ के बीच अंतर बताएं . (Give the difference between Bill of Exchange and 
Promissory note .) 

   

Q18.ͪवͧभÛन सàपͪƣयɉ का वगȸकरण कȧिजए एवं उनकȧ åयाÉया कȧिजए। (Classify various assets and explain 
them.) 

Q19. 31माच[ 2020 को समाÜत हुए वष[ के ͧलए Įी रोǑहत का Ǔनàनͧलͨखत तलपट है( Following is the 
Trial Balance of Mr. Rohit as on 31st March 2020) 



          ͪववरण( Particulars) Amount Amount 

पूंजी (Capital)   40000 
Ĥारंͧभक रहǓतया (Opening 
Stock) 10000   
रोकड़(Cash) 8000   
Đय (Purchase) 30000   
ͪवĐय (Sales)   50000 
Đय वापसी (Purchase Returns)   1000 
ͪवĐय वापसी (Sales Returns) 3000   
Ĥ×य¢ åयय (Direct 
Expenditure) 3000   
वेतन (Salaries) 11000   
उपèकर (Furniture) 6000   
ͩकराया(Rent)  5000   
देनदार /लेनदार 
(Debtors/Creditors) 30000 15000 
  106000 106000 
   

अǓतरÈत सूचना (Additional Information) : 

(i) अदƣ वेतन (Outstanding Salaries ) 1,000ǽ. 

(ii) अĤाÜय ऋण अपͧलͨखत कȧिजए (Write off Bad Debts) 1,500 ǽ  

(ii) उपèकर पर 10% कȧ दर से हास लगाइए (Charge depreciation on furniture @ 10% pa ): 

(iv) 31-03-2020 को अिÛतम रहǓतया (Closing Stock on 31-03-2020) 18,000ǽ. 31 माच[, 2020 को समाÜत 
हुए वष[ के ͧलए åयापाǐरक खाता, लाभ-हाǓन खाता एव ंउसी Ǔतͬथ को िèथǓत ͪववरण तैयार कȧिजए। (You 

are required to prepare Trading Account, Profit and Loss Account for the year ended 31st March, 2020 and 
a Balance Sheet as on that date.) 

 



     

 

 

 

 

 

PART- 'A' (Elements of Business) 

(Which department keep the record of letter in a business 

organisation?)  

 (A) i= O;ogkj foHkkx (Co-despondence)  

 (B) Ø; foHkkx (Purchaser Department) 

 (C) ;kstuk foHkkx (Planning Department) 

 (D) iSafdax foHkkx (Packing Department) 

(Principle of office of organisation is ...........?)  

 (A) mís'; dk fl)kUr (Principle of objective)  

 (B) yksp dk fl)kUr (Principle of flexibility) 

 (C) leUo; dk fl)kUr (Principle of Co-Ordination) 

 (D) buesa lHkh (All of these) 



(How many words are there in origin of office?)  

 (A) 02  (B) 03  (C) 04  (D) 05 

(Which one is not a function of business office?)  

 (A) i= izkIr djuk (To receive a letter)   

 (B) i= izs"k.k (To sent a letter) 

 (C) uLrhdj.k (Filing) 

 (D) fu.kZ;u (To make decision) 

(Who invented Card Indexing?)  

 (A) ,cs jksft;j (Abe Rosier)   (B) xsszl (Grace) 

 (C) gsujh QksMZ (Henry Ford)  (D) xzkge csy (Graham Bell) 

(The oldest method of duplicating is )  

 (A) ftysfVu iz.kkyh (Gelatin Method)  

 (B) yhFkksxzkQ iz.kkyh (Lithograph Method) 

 (C) LVsfUly iz.kkyh (Stencil Method) 

 (D) vkWQlsV iz.kkyh (Offset Method) 

(Inward letters of generally received by .............. ?)  

 (A) Mkd }kjk (By post)   (B) pijklh }kjk (By peon) 

 (C) dksfj;j }kjk (By Courier)  (D) buesa lHkh (All of these) 

(What are the objects of Filing?)  

 (A) U;k;ky; esa iz.kke ds fy, (Proof for court)  

 (B) i=ksa dh lqj{kk ds fy, (Safety of letter) 

 (C) oS/kkfud vko';drk (Judicial need) 

 (D) buesa lHkh (All of these) 



(Main file of shannon file is .................. ?)  

 (A) vyekjh (Almirah)   (B) rkj (Wire) 

 (C) lUnqduqek isVh (Box) (D) eksVs dkxt@n¶rh (Thick paper) 

(Which Indexing method is adopted to find on which pages the letters 

sent on different dates were copied?)  

 (A) lk/kkj.k vuqØekf.kdk (Simple Indexing)  

 (B) dkMZ vuqØekf.kdk (Card Indexing) 

 (C) pØh; vuqØekf.kdk (Wheel Indexing) 

 (D) J`a[kyk vuqØekf.kdk (Cross Indiexing) 

(Name card Guide Card and Absent card are essential material of 

which indexing method?)  

 (A) LojkRed vuqØekf.kdk (Vowel Indexing)  

 (B) J`a[kyk vuqØekf.kdk (Cross Indexing) 

 (C) dkMZ vuqØekf.kdk (Card Indexing) 

 (D) [kqyh dkMZ vuqØekf.kdk (Visible card Indexing) 

(Benefits of coping ..............?)  

 (A) foØ; ds 'krksZa eas lqfo/kk (Convenience in term of sale)  

 (B) vkWMZj ek¡xus eas lqfo/kk (Convenience to place orders) 

 (C) fooknksa dks fuiVkus eas lqfo/kk (Convenience to settling disputes ) 

 (D) buesa lHkh (All of these) 



(Which of the following is the oldest easiest and cheapest copy to get 

a copying?)  

 (A) gkFk ls izfrfyfi (Copying by hand)  

 (B) nkc ;a= (Press machine) 

 (C) dkcZu isij }kjk (Carbon paper) 

 (D) 'kq"d eqnz.k (Zerography) 

(Folder is used in?)  

 (A) [kM+h Qkby (Vertical file)  

 (B) VSax okyh Qkby (Tag file) 

 (C) 'kSuu Qkby (Shannon File) 

 (D) lUnqdokyh QkbZy (Box file) 

(Coping by rotary machine is useful for?)  

 (A) QqVdj O;kikfj;ksa ds fy, (For Retailers)  

 (B) NksVs O;kikfj;ksa ds fy, (For Small traders) 

 (C) cM+s O;kikfj;ksa ds fy, (For Big traders ) 

 (D) xzkgdksa ds fy, (Customers) 

(In how many parts commercial banks can be divided?)  

 (A) 02  (B) 03  (C) 04  (D) 05 

(In which years banks were nationalized for the first time?)  

 (A) 1979  (B) 1959  (C) 1969  (D) 1949 



(In how much time a post office saving account is considered in 

corporate?)  

 (A) rhu o"kZ (Three years)   (B) ik¡p o"kZ (Five years) 

 (C) lkr o"kZ (Seven years)  (D) nl o"kZ (Ten years) 

(Which bank provides long term loan to industries?)  

 (A) O;kikfjd cSad (Commercial Bank)  

 (B) cpr cSad (Saving Bank) 

 (C) vkS|ksfxd cSad (Industrial Bank) 

 (D) lgdkjh cSad (Co-Operative Bank) 

(When was India Vikas Patra Yojna with drawn?)  

 (A) 1988  (B) 1999  (C) 2001  (D) 1990 

(What is he minimum amount to be deposited in post office saving 

account?)  

 (A) 100 :i;k (Rs. 100)  (B) 50 :i;k (Rs. 50) 

 (C) 30 :i;k (Rs. 30)  (D) 20 :i;k (Rs. 20) 

(Highest rate of interest is provided on  which Account?)  

 (A) pkyw [kkrk (Current Account)  

 (B) cpr [kkrk (Saving Account) 

 (C) LFkk;h tek [kkrs (Fixed Deposited Account) 

 (D) vkoŸkhZ tek [kkrk (Recurring Deposited) 

(Quality of an ideal coping is?)  

 (A) ferO;f;rk (Economical)   (B) ljyrk (Simple) 

 (C) lR; izfr (True copy)  (D) buesa ls lHkh (All of these) 



(The central point of whole business concern is?)  

 (A) foi.ku izcU/k (Marketing management)  

 (B) lsokoxhZ; izcU/k (Personal management) 

 (C) mRiknd izcU/k (Production management) 

 (D) dk;kZy; izcU/k (Office management) 

(Maximum number of copies mode at a time by Rotary Machine?)  

 (A) 500  (B) 150  (C) 50  (D) 35 

("Office is as important to a business what the main spring to a 

watch"- Who said this?)  

 (A) fMDlh (Dixy)    (B) gsujh QksMZ (Henry Ford) 

 (C) Qs;ksy (Feyol)   (D) ts0lh cgy (J. C. Behl) 

(Which filing method is suitable for a teacher?)  

 (A) n¶rh Qkby (Cardboard file)  

 (B) QksYMj Qkby (Folder file) 

 (C) 'kydksa okyh Qkby (Arch file) 

 (D) 'kSuu Qkby (Shannon file) 

(Which one is a characteristic of an ideal letter?)  

 (A) Li"Vrk (Clarity)    (B) LoPNrk (Neatness) 

 (C) laf{kIr (Short)   (D) buesa lHkh (All of these) 



(Which is suitable?)  

 (A) gSDVksxzkQ (Hectograph)   (B) yhFkksxzkQ (Lithrograph) 

 (C) LVsfUly (Stencil)   (D) jksVjh (Rotary) 

(In first nationalization of banks what was minimum deposit 

amount?)  

 (A) 50 djksM+ :i;s (Rs. 50 Crore)  

 (B) 50 djksM+ ls vf/kd (More than Rs, 50 Crore) 

 (C) 30 djksM+ :i;s (Rs, 30 Crore) 

 (D) 100 djksM+ :i;s (Rs. 100 Crore) 

(When a post office order to another post office to pay amount to any 

person is called?)  

 (A) euh vkWMZj (Money Order)  (B) iksLVy vkWMZj (Potal order) 

 (C) chek (Insurance)   (D) iklZy (Parcel) 

(Granting loan is .......... function of Bank?)  

 (A) izkFkfed (Primary)   (B) f}rh;d (Secondary) 

 (C) lkekftd (Social)  (D) buesa ls dksbZ ugha (None of these) 

(Which of the following is not a departmental wok in business?)  

 (A) Ø;&foØ; (Purchase & sale)  

 (B) efUnj eas iwtk djuk (Worship in temple) 

 (C) ;kstuk (Planning) 

 (D) ys[kk&tks[kk (Accounting) 



(What is the purpose of Index?)  

 (A) i=ksa dks ljyrk ls <aw<+uk (Easy to find letter)  

 (B) xzkgdkas dh tkudkfj;ks¡ (For customers information) 

 (C) deZpkfj;ksa dh tkudkfj;k¡ (Employees information) 

 (D) buesa lHkh (All of these) 

(Cheque is a written order instrument?)  

 (A) 'kŸkZ lfgr (Conditional)  

 (B) 'kŸkZ jfgr (Unconditional) 

 (C) mi;qZDr nksuksa (Both (A) and (B)) 

 (D) buesa ls dksbZ ugha (None of these) 

(Damaged cheque is called?)  

 (A) dksjk psd (Blank)  

 (B) js[kkafdr psd (Crossed cheque) 

 (C) fod̀r psd (Mutilated cheques) 

 (D) buesa ls dksbZ ugha (None of these) 

(Bank Draft is a ...... )  

 (A) fu[kZ i= (Quotation Letter) (B) vkns'k i= (Order Letter) 

 (C) nksuksa (Both (A) & (B)) (D) buesa ls dksbZ ugha (None of these) 

(How many days are allowed as days of grace for payment of a bill?)  

 (A) 02  (B) 03  (C) 04  (D) 01 



(In which machine analogy watch is instated to count copies?)  

 (A) gSDVksxzkQ (Hectograph)  (B) jksVjh MqIyhdsVj (Rotary Duplicator) 

 (C) LVasfUly (Stencil)  (D) yhFkksxzkQ (Lithograph) 

(While travelling, it is convenient to keep with?)  

 (A) okgd psd (Bearer Cheque)  

 (B) js[kkafdr psd (Crossed Cheque) 

 (C) cSad Mªk¶V (Bank Draft) 

 (D) ;k=h psd (Traveller's Cheque) 

 

 

 

 

 

 

 

 

 

 

  



     

 
 
 

 

 

PART- 'A' (Elements of Business) 

(Answer with five sentences)  

(Answer any five question) 

(Define business office?)  

(Write any two difficulty in the absence of indexing?)  

(What is a cross indexing?)  

(What is Zerography?) 



(What do you understand by Bank Draft?)  

(What is Allonge?)  

(What is the effect of crossing of cheque?) 

(Answer any five question):-

(Write three differences between inland and foreign bill?)  

(What od you meant by Quotation Letter?) 

(Give the name of four nationalised bank?) 

(Write the features of an ideal system of filing?)  

(Define "Principle of objective" of business organization?)  

(Define Negotiable instruments name any two negotiable 

instruments?)  

(What is peon book and what is its need in business?) 

(Answer any three question) :- 

(Explain the merits and demerits of hand coping method?) 



(What are the things to be kept in mind for setting up a business 

office?)  

 

(Describe the main functions of commercial Bank?) 

(Explain characteristics of valid endersement?)  

(State the differences between Bank draft and cheque?)  

 

  

 

  

 

 

  

 

 

  

 

 

 


